

Summary of Bids Received

Project: IL Route 120 Widening and Resurfacing

Section: 12-00999-31-WR

Located on IL Rte 120 from Knight Avenue to IL Rte 131 in Waukegan. HMA widening of IL Rte 120 from 4 to 5 lanes, ADA curb

Description: ramp improvements, class D patching, resurfacing of adjacent roadway, storm sewer installation, thermoplastic

pavement markings, traffic signal work, and other related items.

Bidder	Address	City, State, Zip	Bond	Bid Price	% Over/Under Eng. Estimate	\$ Over/Under Eng. Estimate
Campanella & Sons, Inc.	39207 N Magnetics Blvd	Wadsworth, IL 60083	Bid Bond	\$1,780,024.24	-13.67%	-\$281,762.71
Landmark Contractors, Inc.	P.O. Box 1104	Huntley, IL 60142	Bid Bond	\$1,885,743.21	-8.54%	-\$176,043.74
Berger Excavating Contractors	1205 Garland Road	Wauconda, IL 60084	Bid Bond	\$1,916,200.23	-7.06%	-\$145,586.72
A Lamp Concrete Contractors, Inc.	1900 Wright Blvd	Schaumburg, IL 60193	Bid Bond	\$2,099,082.30	1.81%	\$37,295.35
Alliance Contractors, Inc.	1166 Lake Avenue	Woodstock, IL 60098	Bid Bond	\$2,125,232.18	3.09%	\$63,445.23
Capitol Cement Co., Inc.	6231 N. Pulaski Road	Chicago, IL 60646	Bid Bond	\$2,293,612.33	11.24%	\$231,825.38
Engineer's Estimate				\$2,061,786.95		
Design	IDOT(2)	Contract Bidder		ounty Engineer		
Finance	Bid Tab File	Resident Eng.	N	lgr Capital Progra	mming	
Construction	Project File	Request By Mail				



Project: IL Route 120 Widening and Resurfacing **Section:** 12-00999-31-WR

Item	Pay Code	Description	Quantity	Unit	Eng Es	timate	Alliance Cont	ractors, Inc.	Berger Excavati	ng Contractors	Campanella 8	& Sons, Inc.	Capitol Cem	nent Co., Inc.	Landmark Co	ontractors, Inc.	A Lamp C	
No.		·	-		Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	20100110 TF	REE REMOVAL (6 TO 15 UNITS IAMETER)	8.0	UNIT	\$40.00	\$320.00	\$140.00	\$1,120.00	\$140.00	\$1,120.00	\$120.00	\$960.00	\$85.00	\$680.00	\$140.00	\$1,120.00	\$138.00	\$1,104.00
2	20101100 TF	REE TRUNK PROTECTION	10.0	EACH	\$180.00	\$1,800.00	\$80.00	\$800.00	\$80.00	\$800.00	\$150.00	\$1,500.00	\$150.00	\$1,500.00	\$80.00	\$800.00	\$220.00	\$2,200.00
3	20200100 EA	ARTH EXCAVATION	3,680.0	CU YD	\$32.00	\$117,760.00	\$20.00	\$73,600.00	\$28.00	\$103,040.00	\$33.30	\$122,544.00	\$40.00	\$147,200.00	\$20.00	\$73,600.00	\$35.00	\$128,800.00
4	20400800 FL	JRNISHED EXCAVATION	155.0	CU YD	\$25.00	\$3,875.00	\$1.00	\$155.00	\$0.01	\$1.55	\$1.00	\$155.00	\$10.00	\$1,550.00	\$50.00	\$7,750.00	\$1.00	\$155.00
5	20800150 TF	RENCH BACKFILL	323.0	CU YD	\$40.00	\$12,920.00	\$41.00	\$13,243.00	\$63.00	\$20,349.00	\$68.66	\$22,177.18	\$40.00	\$12,920.00	\$68.66	\$22,177.18	\$36.00	\$11,628.00
6	21001000 GI S1	EOTECHNICAL FABRIC FOR GROUND TABILIZATION	216.0	SQ YD	\$3.00	\$648.00	\$1.00	\$216.00	\$2.45	\$529.20	\$4.26	\$920.16	\$5.00	\$1,080.00	\$1.66	\$358.56	\$5.00	\$1,080.00
7	21101615 TO	OPSOIL FURNISH AND PLACE, 4"	4,757.0	SQ YD	\$4.00	\$19,028.00	\$3.50	\$16,649.50	\$4.25	\$20,217.25	\$4.31	\$20,502.67	\$4.75	\$22,595.75	\$3.50	\$16,649.50	\$4.00	\$19,028.00
8	21301052 EX	XPLORATION TRENCH 52" DEPTH	10.0	FOOT	\$50.00	\$500.00	\$100.00	\$1,000.00	\$66.00	\$660.00	\$100.00	\$1,000.00	\$100.00	\$1,000.00	\$100.00	\$1,000.00	\$1.00	\$10.00
9	25000210 SE	EEDING, CLASS 2A	0.8	ACRE	\$4,000.00	\$3,200.00	\$4,840.00	\$3,872.00	\$2,800.00	\$2,240.00	\$2,842.00	\$2,273.60	\$2,000.00	\$1,600.00	\$4,840.00	\$3,872.00	\$5,325.00	\$4,260.00
10	25000312 SE	EEDING, CLASS 4A	0.2	ACRE	\$4,000.00	\$800.00	\$4,840.00	\$968.00	\$5,200.00	\$1,040.00	\$5,278.00	\$1,055.60	\$7,250.00	\$1,450.00	\$4,840.00	\$968.00	\$5,325.00	\$1,065.00
11	25000400 NI	TROGEN FERTILIZER NUTRIENT	71.0	POUND	\$3.00	\$213.00	\$1.00	\$71.00	\$1.10	\$78.10	\$1.12	\$79.52	\$1.00	\$71.00	\$1.00	\$71.00	\$1.10	\$78.10
12	25000600 PC	OTASSIUM FERTILIZER NUTRIENT	71.0	POUND	\$3.00	\$213.00	\$1.00	\$71.00	\$1.10	\$78.10	\$1.12	\$79.52	\$1.00	\$71.00	\$1.00	\$71.00	\$1.10	\$78.10
13	25100630 EF	ROSION CONTROL BLANKET	4,787.0	SQ YD	\$1.50	\$7,180.50	\$1.20	\$5,744.40	\$1.25	\$5,983.75	\$1.27	\$6,079.49	\$1.00	\$4,787.00	\$1.20	\$5,744.40	\$1.35	\$6,462.45
14		EMPORARY EROSION CONTROL EEDING	891.0	POUND	\$1.50	\$1,336.50	\$0.10	\$89.10	\$1.10	\$980.10	\$1.00	\$891.00	\$1.00	\$891.00	\$0.10	\$89.10	\$0.10	\$89.10
15	28000400 PE	ERIMETER EROSION BARRIER	3,814.0	FOOT	\$1.60	\$6,102.40	\$2.50	\$9,535.00	\$3.00	\$11,442.00	\$2.85	\$10,869.90	\$2.75	\$10,488.50	\$2.50	\$9,535.00	\$1.00	\$3,814.00
16	28000510 IN	ILET FILTERS	42.0	EACH	\$135.00	\$5,670.00	\$25.00	\$1,050.00	\$175.00	\$7,350.00	\$175.00	\$7,350.00	\$150.00	\$6,300.00	\$145.00	\$6,090.00	\$15.00	\$630.00
17	30300001 A	GGREGATE SUBGRADE IMPROVEMENT	72.0	CU YD	\$60.00	\$4,320.00	\$41.00	\$2,952.00	\$58.00	\$4,176.00	\$51.63	\$3,717.36	\$50.00	\$3,600.00	\$75.00	\$5,400.00	\$10.00	\$720.00
18	30300112 AC	GGREGATE SUBGRADE IMPROVEMENT 2"	2,736.0	SQ YD	\$20.00	\$54,720.00	\$14.50	\$39,672.00	\$20.50	\$56,088.00	\$21.46	\$58,714.56	\$18.00	\$49,248.00	\$21.00	\$57,456.00	\$15.00	\$41,040.00
19	35101600 A	GGREGATE BASE COURSE, TYPE B 4"	2,284.0	SQ YD	\$10.00	\$22,840.00	\$5.15	\$11,762.60	\$7.50	\$17,130.00	\$8.75	\$19,985.00	\$6.00	\$13,704.00	\$9.65	\$22,040.60	\$5.50	\$12,562.00
20	35101800 AC	GGREGATE BASE COURSE, TYPE B 6"	60.0	SQ YD	\$12.00	\$720.00	\$8.75	\$525.00	\$11.46	\$687.60	\$21.00	\$1,260.00	\$7.00	\$420.00	\$15.00	\$900.00	\$9.00	\$540.00
21	35501316 H	OT-MIX ASPHALT BASE COURSE, 8"	1,281.0	SQ YD	\$60.00	\$76,860.00	\$51.50	\$65,971.50	\$51.50	\$65,971.50	\$43.14	\$55,262.34	\$51.50	\$65,971.50	\$42.00	\$53,802.00	\$49.00	\$62,769.00
22		OT-MIX ASPHALT BASE COURSE IDENING, 9"	851.0	SQ YD	\$65.00	\$55,315.00	\$53.30	\$45,358.30	\$53.30	\$45,358.30	\$48.72	\$41,460.72	\$53.30	\$45,358.30	\$47.00	\$39,997.00	\$59.00	\$50,209.00
23		OT-MIX ASPHALT BASE COURSE IIDENING, 9 3/4"	12.0	SQ YD	\$70.00	\$840.00	\$163.00	\$1,956.00	\$163.00	\$1,956.00	\$51.76	\$621.12	\$163.00	\$1,956.00	\$51.00	\$612.00	\$96.00	\$1,152.00
24	40600290 BI	TUMINOUS MATERIALS (TACK COAT)	7,344.0	POUND	\$0.25	\$1,836.00	\$1.15	\$8,445.60	\$1.15	\$8,445.60	\$0.02	\$146.88	\$1.15	\$8,445.60	\$0.01	\$73.44	\$1.25	\$9,180.00
25		OT-MIX ASPHALT SURFACE REMOVAL - UTT JOINT	151.0	SQ YD	\$15.00	\$2,265.00	\$5.00	\$755.00	\$5.00	\$755.00	\$25.38	\$3,832.38	\$5.00	\$755.00	\$25.00	\$3,775.00	\$10.00	\$1,510.00
26		OT-MIX ASPHALT REPLACEMENT OVER ATCHES	75.0	TON	\$110.00	\$8,250.00	\$181.00	\$13,575.00	\$181.00	\$13,575.00	\$101.50	\$7,612.50	\$181.00	\$13,575.00	\$100.00	\$7,500.00	\$200.00	\$15,000.00
27		OT-MIX ASPHALT BINDER COURSE, IL- 0.0, N70	1,678.0	TON	\$95.00	\$159,410.00	\$70.10	\$117,627.80	\$70.10	\$117,627.80	\$66.99	\$112,409.22	\$70.10	\$117,627.80	\$66.00	\$110,748.00	\$77.25	\$129,625.50
28		OLYMERIZED HOT-MIX ASPHALT NDER COURSE, IL-4.75, N50	762.0	TON	\$95.00	\$72,390.00	\$88.00	\$67,056.00	\$88.00	\$67,056.00	\$103.53	\$78,889.86	\$88.00	\$67,056.00	\$99.00	\$75,438.00	\$97.00	\$73,914.00
29		OT-MIX ASPHALT SURFACE COURSE, -9.5, MIX "D", N50	144.0	TON	\$150.00	\$21,600.00	\$165.00	\$23,760.00	\$165.00	\$23,760.00	\$121.80	\$17,539.20	\$165.00	\$23,760.00	\$120.00	\$17,280.00	\$125.00	\$18,000.00



Project: IL Route 120 Widening and Resurfacing **Section:** 12-00999-31-WR

Item	Pay Code	Description	Quantity	Unit	Eng Est	imate	Alliance Cont	tractors, Inc.	Berger Excavati	ng Contractors	Campanella	& Sons, Inc.	Capitol Cem	nent Co., Inc.	Landmark Co	ntractors, Inc.	A Lamp C	
No.		·	•		Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
30		IOT-MIX ASPHALT SURFACE COURSE, 9.5, MIX "D", N70	2.0	TON	\$150.00	\$300.00	\$250.00	\$500.00	\$250.00	\$500.00	\$137.02	\$274.04	\$250.00	\$500.00	\$135.00	\$270.00	\$200.00	\$400.00
31		OLYMERIZED HOT-MIX ASPHALT URFACE COURSE, IL-9.5, MIX "E", N70	1,067.0	TON	\$120.00	\$128,040.00	\$78.00	\$83,226.00	\$78.00	\$83,226.00	\$93.89	\$100,180.63	\$78.00	\$83,226.00	\$91.50	\$97,630.50	\$85.80	\$91,548.60
32	42001300 P	ROTECTIVE COAT	3,643.0	SQ YD	\$1.00	\$3,643.00	\$0.01	\$36.43	\$0.01	\$36.43	\$1.93	\$7,030.99	\$1.00	\$3,643.00	\$1.90	\$6,921.70	\$1.00	\$3,643.00
33		ORTLAND CEMENT CONCRETE PRIVEWAY PAVEMENT, 8 INCH	409.0	SQ YD	\$75.00	\$30,675.00	\$65.00	\$26,585.00	\$67.00	\$27,403.00	\$77.70	\$31,779.30	\$75.00	\$30,675.00	\$75.50	\$30,879.50	\$93.00	\$38,037.00
34		ORTLAND CEMENT CONCRETE IDEWALK 5 INCH	14,988.0	SQ FT	\$7.00	\$104,916.00	\$6.25	\$93,675.00	\$5.75	\$86,181.00	\$6.44	\$96,522.72	\$7.50	\$112,410.00	\$6.25	\$93,675.00	\$6.40	\$95,923.20
35	7/2//00/300	ORTLAND CEMENT CONCRETE IDEWALK 6 INCH	532.0	SQ FT	\$8.00	\$4,256.00	\$6.35	\$3,378.20	\$7.00	\$3,724.00	\$6.90	\$3,670.80	\$8.00	\$4,256.00	\$6.75	\$3,591.00	\$7.50	\$3,990.00
36	47400410	ORTLAND CEMENT CONCRETE IDEWALK 8 INCH	4,633.0	SQ FT	\$10.00	\$46,330.00	\$7.30	\$33,820.90	\$8.00	\$37,064.00	\$7.82	\$36,230.06	\$9.00	\$41,697.00	\$7.60	\$35,210.80	\$9.00	\$41,697.00
37		ORTLAND CEMENT CONCRETE IDEWALK 10 INCH	1,269.0	SQ FT	\$12.00	\$15,228.00	\$15.00	\$19,035.00	\$10.75	\$13,641.75	\$8.73	\$11,078.37	\$10.00	\$12,690.00	\$8.50	\$10,786.50	\$14.25	\$18,083.25
38	42400800 D	ETECTABLE WARNINGS	172.0	SQ FT	\$30.00	\$5,160.00	\$25.00	\$4,300.00	\$33.00	\$5,676.00	\$33.50	\$5,762.00	\$55.00	\$9,460.00	\$35.00	\$6,020.00	\$35.00	\$6,020.00
39	44000100 P	AVEMENT REMOVAL	213.0	SQ YD	\$20.00	\$4,260.00	\$40.00	\$8,520.00	\$15.00	\$3,195.00	\$15.26	\$3,250.38	\$20.00	\$4,260.00	\$14.35	\$3,056.55	\$15.00	\$3,195.00
40	44000161 H 3"	IOT-MIX ASPHALT SURFACE REMOVAL,	10,029.0	SQ YD	\$4.50	\$45,130.50	\$3.20	\$32,092.80	\$3.20	\$32,092.80	\$2.79	\$27,980.91	\$3.20	\$32,092.80	\$2.95	\$29,585.55	\$3.10	\$31,089.90
41	44000200 D	RIVEWAY PAVEMENT REMOVAL	2,168.0	SQ YD	\$15.00	\$32,520.00	\$20.00	\$43,360.00	\$7.50	\$16,260.00	\$9.80	\$21,246.40	\$18.00	\$39,024.00	\$12.75	\$27,642.00	\$12.00	\$26,016.00
42		OMBINATION CURB AND GUTTER EMOVAL	3,562.0	FOOT	\$4.00	\$14,248.00	\$20.00	\$71,240.00	\$6.15	\$21,906.30	\$5.07	\$18,059.34	\$5.00	\$17,810.00	\$5.60	\$19,947.20	\$4.00	\$14,248.00
43		IDEWALK REMOVAL	1,595.0	SQ FT	\$2.00	\$3,190.00	\$2.00	\$3,190.00	\$0.85	\$1,355.75	\$1.41	\$2,248.95	\$2.00	\$3,190.00	\$1.30	\$2,073.50	\$1.05	\$1,674.75
44		IOT-MIX ASPHALT REMOVAL OVER ATCHES, 4"	332.0	SQ YD	\$7.00	\$2,324.00	\$3.10	\$1,029.20	\$3.25	\$1,079.00	\$10.66	\$3,539.12	\$3.10	\$1,029.20	\$10.50	\$3,486.00	\$7.00	\$2,324.00
45	44003100 M	MEDIAN REMOVAL	335.0	SQ FT	\$10.00	\$3,350.00	\$4.00	\$1,340.00	\$15.00	\$5,025.00	\$6.95	\$2,328.25	\$3.00	\$1,005.00	\$1.30	\$435.50	\$2.00	\$670.00
46	44201771 C	LASS D PATCHES, TYPE IV, 10 INCH	278.0	SQ YD	\$80.00	\$22,240.00	\$134.00	\$37,252.00	\$112.00	\$31,136.00	\$100.00	\$27,800.00	\$134.00	\$37,252.00	\$92.00	\$25,576.00	\$80.00	\$22,240.00
47		TRIP REFLECTIVE CRACK CONTROL REATMENT	2,554.0	FOOT	\$1.00	\$2,554.00	\$2.65	\$6,768.10	\$2.65	\$6,768.10	\$2.84	\$7,253.36	\$2.65	\$6,768.10	\$2.80	\$7,151.20	\$2.50	\$6,385.00
48	50900805 P	EDESTRIAN RAILING	153.0	FOOT	\$20.00	\$3,060.00	\$330.00	\$50,490.00	\$330.00	\$50,490.00	\$334.95	\$51,247.35	\$330.00	\$50,490.00	\$330.00	\$50,490.00	\$363.00	\$55,539.00
49		EGMENTAL CONCRETE BLOCK WALL	331.0	SQ FT	\$100.00	\$33,100.00	\$41.00	\$13,571.00	\$48.00	\$15,888.00	\$50.75	\$16,798.25	\$40.00	\$13,240.00	\$49.75	\$16,467.25	\$45.10	\$14,928.10
50	550A0050 S	TORM SEWERS, CLASS A, TYPE 1 12"	152.0	FOOT	\$40.00	\$6,080.00	\$75.00	\$11,400.00	\$60.00	\$9,120.00	\$65.67	\$9,981.84	\$110.00	\$16,720.00	\$65.67	\$9,981.84	\$80.00	\$12,160.00
51	550A0180 S	TORM SEWERS, CLASS A, TYPE 1 42"	179.0	FOOT	\$125.00	\$22,375.00	\$125.00	\$22,375.00	\$128.00	\$22,912.00	\$134.07	\$23,998.53	\$240.00	\$42,960.00	\$134.07	\$23,998.53	\$180.00	\$32,220.00
52	550A0190 S	TORM SEWERS, CLASS A, TYPE 1 48"	63.0	FOOT	\$160.00	\$10,080.00	\$150.00	\$9,450.00	\$165.00	\$10,395.00	\$154.40	\$9,727.20	\$275.00	\$17,325.00	\$154.40	\$9,727.20	\$200.00	\$12,600.00
53	550A0340 S	TORM SEWERS, CLASS A, TYPE 2 12"	841.0	FOOT	\$47.00	\$39,527.00	\$75.00	\$63,075.00	\$65.00	\$54,665.00	\$58.12	\$48,878.92	\$115.00	\$96,715.00	\$59.97	\$50,434.77	\$90.00	\$75,690.00
54		TORM SEWERS, CLASS A, TYPE 2 48"	136.0	FOOT	\$48.00	\$6,528.00	\$150.00	\$20,400.00	\$167.00	\$22,712.00	\$158.58	\$21,566.88	\$300.00	\$40,800.00	\$158.58	\$21,566.88	\$250.00	\$34,000.00
55	550A2320 S	TORM SEWERS, RUBBER GASKET, ELASS A, TYPE 1 12"	4.0	FOOT	\$61.00	\$244.00	\$100.00	\$400.00	\$120.00	\$480.00	\$214.08	\$856.32	\$150.00	\$600.00	\$214.08	\$856.32	\$90.00	\$360.00
56	55100500 S	TORM SEWER REMOVAL 12"	476.0	FOOT	\$12.00	\$5,712.00	\$10.00	\$4,760.00	\$18.00	\$8,568.00	\$7.41	\$3,527.16	\$20.00	\$9,520.00	\$7.41	\$3,527.16	\$1.00	\$476.00
57	55101600 S	TORM SEWER REMOVAL 36"	370.0	FOOT	\$18.00	\$6,660.00	\$10.00	\$3,700.00	\$26.00	\$9,620.00	\$8.55	\$3,163.50	\$40.00	\$14,800.00	\$8.55	\$3,163.50	\$1.00	\$370.00
58	56400500 FI	IRE HYDRANTS TO BE REMOVED	2.0	EACH	\$725.00	\$1,450.00	\$775.00	\$1,550.00	\$775.00	\$1,550.00	\$780.00	\$1,560.00	\$4,500.00	\$9,000.00	\$780.00	\$1,560.00	\$750.00	\$1,500.00



Project: IL Route 120 Widening and Resurfacing **Section:** 12-00999-31-WR

Item	Pay Code	Description	Quantity Unit	Eng Es	timate	Alliance Conti	actors, Inc.	Berger Excavatii	ng Contractors	Campanella 8	& Sons, Inc.	Capitol Cem	ent Co., Inc.	Landmark Co	ntractors, Inc.	A Lamp C	
No.	.,	23337,		Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
59		IRE HYDRANT WITH AUXILIARY VALVE IND VALVE BOX	2.0 EACH	\$4,500.00	\$9,000.00	\$10,000.00	\$20,000.00	\$5,000.00	\$10,000.00	\$6,135.95	\$12,271.90	\$9,000.00	\$18,000.00	\$6,135.95	\$12,271.90	\$7,000.00	\$14,000.00
60	60108204 P	PIPE UNDERDRAINS, TYPE 2, 4"	3,433.0 FOOT	\$28.00	\$96,124.00	\$21.50	\$73,809.50	\$15.00	\$51,495.00	\$2.21	\$7,586.93	\$37.50	\$128,737.50	\$20.44	\$70,170.52	\$5.00	\$17,165.00
61	60201340 C	CATCH BASINS, TYPE A, 4'-DIAMETER, YPE 24 FRAME AND GRATE	20.0 EACH	\$2,000.00	\$40,000.00	\$7,000.00	\$140,000.00	\$2,250.00	\$45,000.00	\$2,578.70	\$51,574.00	\$3,750.00	\$75,000.00	\$2,578.70	\$51,574.00	\$3,500.00	\$70,000.00
62		CATCH BASINS, TYPE A, 5'-DIAMETER, TYPE 24 FRAME AND GRATE	2.0 EACH	\$4,450.00	\$8,900.00	\$8,000.00	\$16,000.00	\$3,700.00	\$7,400.00	\$3,946.20	\$7,892.40	\$3,950.00	\$7,900.00	\$3,946.20	\$7,892.40	\$5,000.00	\$10,000.00
63		CATCH BASINS, TYPE C, TYPE 24 FRAME IND GRATE	9.0 EACH	\$1,630.00	\$14,670.00	\$4,000.00	\$36,000.00	\$1,425.00	\$12,825.00	\$1,114.54	\$10,030.86	\$2,950.00	\$26,550.00	\$1,114.54	\$10,030.86	\$2,000.00	\$18,000.00
64		MANHOLES, TYPE A, 4'-DIAMETER, TYPE FRAME, CLOSED LID	3.0 EACH	\$2,400.00	\$7,200.00	\$7,000.00	\$21,000.00	\$2,150.00	\$6,450.00	\$2,463.70	\$7,391.10	\$4,500.00	\$13,500.00	\$2,463.70	\$7,391.10	\$3,800.00	\$11,400.00
65		MANHOLES, TYPE A, 5'-DIAMETER, TYPE FRAME, CLOSED LID	2.0 EACH	\$4,875.00	\$9,750.00	\$8,000.00	\$16,000.00	\$11,400.00	\$22,800.00	\$3,917.45	\$7,834.90	\$5,000.00	\$10,000.00	\$3,917.45	\$7,834.90	\$5,700.00	\$11,400.00
66		MANHOLES, TYPE A, 6'-DIAMETER, TYPE FRAME, CLOSED LID	5.0 EACH	\$7,500.00	\$37,500.00	\$9,000.00	\$45,000.00	\$6,800.00	\$34,000.00	\$4,572.45	\$22,862.25	\$6,000.00	\$30,000.00	\$4,572.45	\$22,862.25	\$6,500.00	\$32,500.00
67		NLETS, TYPE A, TYPE 24 FRAME AND GRATE	11.0 EACH	\$750.00	\$8,250.00	\$4,000.00	\$44,000.00	\$1,200.00	\$13,200.00	\$852.55	\$9,378.05	\$2,950.00	\$32,450.00	\$852.55	\$9,378.05	\$1,800.00	\$19,800.00
68	60255500 N	MANHOLES TO BE ADJUSTED	11.0 EACH	\$640.00	\$7,040.00	\$150.00	\$1,650.00	\$485.00	\$5,335.00	\$480.00	\$5,280.00	\$750.00	\$8,250.00	\$480.00	\$5,280.00	\$450.00	\$4,950.00
69	60500040 R	REMOVING MANHOLES	9.0 EACH	\$450.00	\$4,050.00	\$300.00	\$2,700.00	\$850.00	\$7,650.00	\$275.00	\$2,475.00	\$1,250.00	\$11,250.00	\$275.00	\$2,475.00	\$500.00	\$4,500.00
70	60500060 R	REMOVING INLETS	17.0 EACH	\$90.00	\$1,530.00	\$150.00	\$2,550.00	\$250.00	\$4,250.00	\$150.00	\$2,550.00	\$250.00	\$4,250.00	\$150.00	\$2,550.00	\$250.00	\$4,250.00
71	60600605 C	CONCRETE CURB, TYPE B	572.0 FOOT	\$25.00	\$14,300.00	\$32.50	\$18,590.00	\$28.00	\$16,016.00	\$37.56	\$21,484.32	\$34.00	\$19,448.00	\$39.00	\$22,308.00	\$27.00	\$15,444.00
72		COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12	544.0 FOOT	\$22.00	\$11,968.00	\$37.00	\$20,128.00	\$26.00	\$14,144.00	\$33.50	\$18,224.00	\$36.00	\$19,584.00	\$34.00	\$18,496.00	\$31.00	\$16,864.00
73		COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24	2,037.0 FOOT	\$25.00	\$50,925.00	\$40.00	\$81,480.00	\$30.00	\$61,110.00	\$34.15	\$69,563.55	\$37.00	\$75,369.00	\$34.00	\$69,258.00	\$28.00	\$57,036.00
74	60605300 G	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (MODIFIED)	1,156.0 FOOT	\$30.00	\$34,680.00	\$46.00	\$53,176.00	\$33.00	\$38,148.00	\$34.15	\$39,477.40	\$38.00	\$43,928.00	\$34.00	\$39,304.00	\$28.00	\$32,368.00
75	60618740 C	CONCRETE MEDIAN, TYPE M-2.12	99.0 SQ FT	\$18.00	\$1,782.00	\$23.00	\$2,277.00	\$15.00	\$1,485.00	\$14.21	\$1,406.79	\$15.00	\$1,485.00	\$14.80	\$1,465.20	\$15.00	\$1,485.00
76		REMOVE AND REERECT TRAFFIC PARRIER TERMINALS, TYPE 1	1.0 EACH	\$1,100.00	\$1,100.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,537.50	\$2,537.50	\$1,000.00	\$1,000.00	\$2,200.00	\$2,200.00	\$2,750.00	\$2,750.00
77	67100100 N	MOBILIZATION	1.0 LSUM	\$90,000.00	\$90,000.00	\$137,683.00	\$137,683.00	\$110,000.00	\$110,000.00	\$51,465.00	\$51,465.00	\$125,000.00	\$125,000.00	\$135,000.00	\$135,000.00	\$120,000.00	\$120,000.00
78	70103815 T	RAFFIC CONTROL SURVEILLANCE	101.0 CAL DA	\$1.00	\$101.00	\$1.00	\$101.00	\$1.00	\$101.00	\$1.02	\$103.02	\$225.00	\$22,725.00	\$1.00	\$101.00	\$1.00	\$101.00
79	70107025 C	CHANGEABLE MESSAGE SIGN	300.0 CAL DA	\$20.00	\$6,000.00	\$25.00	\$7,500.00	\$25.00	\$7,500.00	\$25.38	\$7,614.00	\$20.00	\$6,000.00	\$25.00	\$7,500.00	\$1.00	\$300.00
80	70300100 S	SHORT TERM PAVEMENT MARKING	3,588.0 FOOT	\$0.50	\$1,794.00	\$0.30	\$1,076.40	\$0.30	\$1,076.40	\$0.36	\$1,291.68	\$0.30	\$1,076.40	\$0.35	\$1,255.80	\$0.01	\$35.88
81	70300150 S	SHORT TERM PAVEMENT MARKING REMOVAL	1,196.0 SQ FT	\$0.50	\$598.00	\$1.00	\$1,196.00	\$3.00	\$3,588.00	\$1.00	\$1,196.00	\$1.60	\$1,913.60	\$1.00	\$1,196.00	\$1.00	\$1,196.00
82		AVEMENT MARKING TAPE, TYPE III - ETTERS AND SYMBOLS	1,444.0 SQ FT	\$4.00	\$5,776.00	\$3.25	\$4,693.00	\$3.25	\$4,693.00	\$3.30	\$4,765.20	\$3.00	\$4,332.00	\$3.25	\$4,693.00	\$1.00	\$1,444.00
83	70300520 P	PAVEMENT MARKING TAPE, TYPE III 4"	25,467.0 FOOT	\$0.40	\$10,186.80	\$0.65	\$16,553.55	\$0.65	\$16,553.55	\$0.66	\$16,808.22	\$0.92	\$23,429.64	\$0.65	\$16,553.55	\$0.01	\$254.67
84	70300540 P	PAVEMENT MARKING TAPE, TYPE III 6"	1,315.0 FOOT	\$1.30	\$1,709.50	\$1.25	\$1,643.75	\$1.25	\$1,643.75	\$1.27	\$1,670.05	\$1.35	\$1,775.25	\$1.25	\$1,643.75	\$0.01	\$13.15
85	70300560 P	PAVEMENT MARKING TAPE, TYPE III 12"	611.0 FOOT	\$2.50	\$1,527.50	\$2.70	\$1,649.70	\$2.70	\$1,649.70	\$2.75	\$1,680.25	\$2.75	\$1,680.25	\$2.70	\$1,649.70	\$0.01	\$6.11
86	70300570 P	PAVEMENT MARKING TAPE, TYPE III 24"	129.0 FOOT	\$6.00	\$774.00	\$5.40	\$696.60	\$5.40	\$696.60	\$5.48	\$706.92	\$6.00	\$774.00	\$5.40	\$696.60	\$0.01	\$1.29



Project: IL Route 120 Widening and Resurfacing **Section:** 12-00999-31-WR

Item	Pay Code	Description	Quantity	Unit	Eng Es	timate	Alliance Cont	ractors, Inc.	Berger Excavati	ng Contractors	Campanella &	& Sons, Inc.	Capitol Cem	ent Co., Inc.	Landmark Co	ntractors, Inc.	A Lamp (Contract	
No.	-				Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
87	72000100	SIGN PANEL - TYPE 1	135.0	SQ FT	\$35.00	\$4,725.00	\$16.95	\$2,288.25	\$16.95	\$2,288.25	\$17.20	\$2,322.00	\$21.00	\$2,835.00	\$16.95	\$2,288.25	\$25.00	\$3,375.00
88	72000200	SIGN PANEL - TYPE 2	21.0	SQ FT	\$45.00	\$945.00	\$40.00	\$840.00	\$40.00	\$840.00	\$40.60	\$852.60	\$38.00	\$798.00	\$40.00	\$840.00	\$35.00	\$735.00
89	72400100	REMOVE SIGN PANEL ASSEMBLY - TYPE A	12.0	EACH	\$75.00	\$900.00	\$40.00	\$480.00	\$40.00	\$480.00	\$40.60	\$487.20	\$30.00	\$360.00	\$40.00	\$480.00	\$150.00	\$1,800.00
90	72400200	REMOVE SIGN PANEL ASSEMBLY - TYPE B	5.0	EACH	\$150.00	\$750.00	\$60.00	\$300.00	\$60.00	\$300.00	\$60.90	\$304.50	\$65.00	\$325.00	\$60.00	\$300.00	\$250.00	\$1,250.00
91	72800100	TELESCOPING STEEL SIGN SUPPORT	256.0	FOOT	\$17.00	\$4,352.00	\$9.00	\$2,304.00	\$9.00	\$2,304.00	\$9.14	\$2,339.84	\$11.50	\$2,944.00	\$9.00	\$2,304.00	\$18.00	\$4,608.00
92	73000100	WOOD SIGN SUPPORT	22.0	FOOT	\$25.00	\$550.00	\$24.95	\$548.90	\$24.95	\$548.90	\$25.32	\$557.04	\$30.00	\$660.00	\$24.95	\$548.90	\$20.00	\$440.00
93	73100100	BASE FOR TELESCOPING STEEL SIGN SUPPORT	16.0	EACH	\$150.00	\$2,400.00	\$175.00	\$2,800.00	\$175.00	\$2,800.00	\$177.62	\$2,841.92	\$150.00	\$2,400.00	\$175.00	\$2,800.00	\$250.00	\$4,000.00
94	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	474.0	SQ FT	\$3.00	\$1,422.00	\$5.25	\$2,488.50	\$5.25	\$2,488.50	\$4.06	\$1,924.44	\$5.89	\$2,791.86	\$5.50	\$2,607.00	\$4.40	\$2,085.60
95	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	5,707.0	FOOT	\$0.75	\$4,280.25	\$0.60	\$3,424.20	\$0.60	\$3,424.20	\$0.76	\$4,337.32	\$0.97	\$5,535.79	\$1.15	\$6,563.05	\$0.85	\$4,850.95
96	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	812.0	FOOT	\$1.25	\$1,015.00	\$1.20	\$974.40	\$1.20	\$974.40	\$1.02	\$828.24	\$1.50	\$1,218.00	\$2.25	\$1,827.00	\$1.10	\$893.20
97	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	1,140.0	FOOT	\$2.00	\$2,280.00	\$2.20	\$2,508.00	\$2.20	\$2,508.00	\$2.03	\$2,314.20	\$3.00	\$3,420.00	\$3.00	\$3,420.00	\$2.20	\$2,508.00
98	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	276.0	FOOT	\$3.00	\$828.00	\$5.25	\$1,449.00	\$5.25	\$1,449.00	\$4.06	\$1,120.56	\$5.89	\$1,625.64	\$7.50	\$2,070.00	\$4.40	\$1,214.40
99	78100100	RAISED REFLECTIVE PAVEMENT MARKER	205.0	EACH	\$50.00	\$10,250.00	\$25.00	\$5,125.00	\$25.00	\$5,125.00	\$30.45	\$6,242.25	\$24.89	\$5,102.45	\$0.00	\$0.00	\$33.00	\$6,765.00
100	78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	162.0	EACH	\$25.00	\$4,050.00	\$11.00	\$1,782.00	\$11.00	\$1,782.00	\$8.63	\$1,398.06	\$11.00	\$1,782.00	\$8.50	\$1,377.00	\$10.00	\$1,620.00
101	81028200	UNDERGROUND CONDUIT, GALVANIZED STEEL, 2" DIA.	27.0	FOOT	\$22.00	\$594.00	\$20.10	\$542.70	\$20.10	\$542.70	\$20.40	\$550.80	\$20.10	\$542.70	\$20.10	\$542.70	\$25.00	\$675.00
102	85000300	MAINTENANCE OF EXISTING TRAFFIC SIGNAL INSTALLATION	1.0	LSUM	\$5,000.00	\$5,000.00	\$2,640.00	\$2,640.00	\$3,760.00	\$3,760.00	\$2,679.60	\$2,679.60	\$2,640.00	\$2,640.00	\$2,640.00	\$2,640.00	\$2,905.00	\$2,905.00
103	87301215	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 2C	445.0	FOOT	\$2.00	\$890.00	\$1.20	\$534.00	\$1.20	\$534.00	\$1.22	\$542.90	\$1.20	\$534.00	\$1.20	\$534.00	\$1.35	\$600.75
104	87301225	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 3C	457.0	FOOT	\$2.00	\$914.00	\$1.30	\$594.10	\$1.30	\$594.10	\$1.32	\$603.24	\$1.30	\$594.10	\$1.30	\$594.10	\$1.45	\$662.65
105	87502440	TRAFFIC SIGNAL POST, GALVANIZED STEEL 10 FT	3.0	EACH	\$1,600.00	\$4,800.00	\$1,002.00	\$3,006.00	\$1,002.00	\$3,006.00	\$1,017.03	\$3,051.09	\$1,002.00	\$3,006.00	\$1,002.00	\$3,006.00	\$1,105.00	\$3,315.00
106	87800100	CONCRETE FOUNDATION, TYPE A	12.0	FOOT	\$350.00	\$4,200.00	\$251.30	\$3,015.60	\$251.30	\$3,015.60	\$255.07	\$3,060.84	\$251.30	\$3,015.60	\$251.30	\$3,015.60	\$280.00	\$3,360.00
107	87900200	DRILL EXISTING HANDHOLE	3.0	EACH	\$450.00	\$1,350.00	\$281.00	\$843.00	\$281.00	\$843.00	\$285.22	\$855.66	\$281.00	\$843.00	\$281.00	\$843.00	\$310.00	\$930.00
108		PEDESTRIAN SIGNAL HEAD, LED, 1-FACE, BRACKET MOUNTED WITH COUNTDOWN TIMER		EACH	\$900.00	\$3,600.00	\$507.00	\$2,028.00	\$507.00	\$2,028.00	\$514.60	\$2,058.40	\$507.00	\$2,028.00	\$507.00	\$2,028.00	\$560.00	\$2,240.00
109	88800100	PEDESTRIAN PUSH-BUTTON	4.0	EACH	\$300.00	\$1,200.00	\$382.00	\$1,528.00	\$382.00	\$1,528.00	\$387.73	\$1,550.92	\$382.00	\$1,528.00	\$382.00	\$1,528.00	\$425.00	\$1,700.00
110	89502200	MODIFY EXISTING CONTROLLER	1.0	EACH	\$2,500.00	\$2,500.00	\$1,225.00	\$1,225.00	\$1,225.00	\$1,225.00	\$1,243.38	\$1,243.38	\$1,225.00	\$1,225.00	\$1,225.00	\$1,225.00	\$1,350.00	\$1,350.00
111	89502210	MODIFY EXISTING CONTROLLER CABINET	1.0	EACH	\$2,500.00	\$2,500.00	\$1,628.00	\$1,628.00	\$1,628.00	\$1,628.00	\$1,652.42	\$1,652.42	\$1,628.00	\$1,628.00	\$1,628.00	\$1,628.00	\$1,800.00	\$1,800.00



Project: IL Route 120 Widening and Resurfacing **Section:** 12-00999-31-WR

Item	Pay Code	Description	Quantity Unit	Eng Es	timate	Alliance Cont	ractors, Inc.	Berger Excavation	ng Contractors	Campanella &	& Sons, Inc.	Capitol Cem	ent Co., Inc.	Landmark Cor	ntractors, Inc.	A Lamp C	
No.	_	·	-	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
112		TREE, GINKGO BILOBA (GINKGO), 3" CALIPER, BALLED AND BURLAPPED	1.0 EACH	\$630.00	\$630.00	\$900.00	\$900.00	\$550.00	\$550.00	\$558.25	\$558.25	\$3,200.00	\$3,200.00	\$900.00	\$900.00	\$990.00	\$990.00
113		MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	9,423.0 UNIT	\$1.00	\$9,423.00	\$1.00	\$9,423.00	\$1.00	\$9,423.00	\$1.00	\$9,423.00	\$1.00	\$9,423.00	\$1.00	\$9,423.00	\$1.00	\$9,423.00
114	LC600023	MANHOLES, TYPE A, 6'-DIAMETER, WITH 2 TYPE 1 FRAME, CLOSED LID, RESTRICTOR PLATE, SPECIAL	1.0 EACH	\$16,000.00	\$16,000.00	\$10,000.00	\$10,000.00	\$9,650.00	\$9,650.00	\$7,024.50	\$7,024.50	\$7,500.00	\$7,500.00	\$7,024.50	\$7,024.50	\$12,000.00	\$12,000.00
115	LC800872	REMOVE EXISTING RED LIGHT CAMERA AND EQUIPMENT	1.0 LSUM	\$5,050.00	\$5,050.00	\$3,520.00	\$3,520.00	\$3,520.00	\$3,520.00	\$3,572.80	\$3,572.80	\$3,520.00	\$3,520.00	\$3,520.00	\$3,520.00	\$3,875.00	\$3,875.00
116	X0322463	CONNECTION TO EXISTING SEWER	4.0 EACH	\$3,000.00	\$12,000.00	\$500.00	\$2,000.00	\$1,950.00	\$7,800.00	\$880.00	\$3,520.00	\$1,000.00	\$4,000.00	\$880.00	\$3,520.00	\$1,500.00	\$6,000.00
117		REMOVE EXISTING STREET LIGHTING EQUIPMENT	1.0 EACH	\$2,000.00	\$2,000.00	\$1,760.00	\$1,760.00	\$1,760.00	\$1,760.00	\$1,786.40	\$1,786.40	\$1,760.00	\$1,760.00	\$1,760.00	\$1,760.00	\$1,940.00	\$1,940.00
118	X0323697	RUSTIC RAIL FENCE REMOVAL	77.0 FOOT	\$25.00	\$1,925.00	\$10.00	\$770.00	\$12.00	\$924.00	\$8.00	\$616.00	\$1.00	\$77.00	\$13.80	\$1,062.60	\$10.00	\$770.00
119	X0327727	PLANTER REMOVAL	1.0 LSUM	\$3,000.00	\$3,000.00	\$500.00	\$500.00	\$1,200.00	\$1,200.00	\$500.00	\$500.00	\$500.00	\$500.00	\$800.00	\$800.00	\$2,500.00	\$2,500.00
120	X2600012	REMOVE AND RELOCATE SIGN PANEL AND POLE ASSEMBLY	4.0 EACH	\$250.00	\$1,000.00	\$150.00	\$600.00	\$150.00	\$600.00	\$152.25	\$609.00	\$250.00	\$1,000.00	\$150.00	\$600.00	\$300.00	\$1,200.00
121		TEMPORARY ACCESS (COMMERCIAL ENTRANCE)	28.0 EACH	\$1,100.00	\$30,800.00	\$1.00	\$28.00	\$700.00	\$19,600.00	\$613.05	\$17,165.40	\$250.00	\$7,000.00	\$390.00	\$10,920.00	\$100.00	\$2,800.00
122	X4023000	TEMPORARY ACCESS (ROAD)	3.0 EACH	\$2,200.00	\$6,600.00	\$1.00	\$3.00	\$1,200.00	\$3,600.00	\$613.05	\$1,839.15	\$750.00	\$2,250.00	\$450.00	\$1,350.00	\$200.00	\$600.00
123		ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	7.0 CAL MO	\$2,500.00	\$17,500.00	\$500.00	\$3,500.00	\$3,000.00	\$21,000.00	\$2,500.00	\$17,500.00	\$3,000.00	\$21,000.00	\$2,100.00	\$14,700.00	\$2,500.00	\$17,500.00
124		TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0 LSUM	\$90,000.00	\$90,000.00	\$49,500.00	\$49,500.00	\$69,000.00	\$69,000.00	\$50,242.50	\$50,242.50	\$45,000.00	\$45,000.00	\$73,400.00	\$73,400.00	\$234,000.00	\$234,000.00
125	X /(1/3(1)(1)/L	TEMPORARY PAVEMENT MARKING REMOVAL	6,660.0 SQ FT	\$0.50	\$3,330.00	\$0.01	\$66.60	\$0.01	\$66.60	\$0.02	\$133.20	\$0.30	\$1,998.00	\$0.92	\$6,127.20	\$0.01	\$66.60
126		RELOCATE EXISTING LIGHT POLE WITH LUMINAIRE	5.0 EACH	\$5,000.00	\$25,000.00	\$2,048.00	\$10,240.00	\$2,048.00	\$10,240.00	\$2,078.72	\$10,393.60	\$2,048.00	\$10,240.00	\$2,048.00	\$10,240.00	\$2,255.00	\$11,275.00
127	Z0013797	STABILIZED CONSTRUCTION ENTRANCE	53.0 SQ YD	\$45.00	\$2,385.00	\$1.00	\$53.00	\$25.00	\$1,325.00	\$1.00	\$53.00	\$30.00	\$1,590.00	\$60.00	\$3,180.00	\$10.00	\$530.00
128	Z0013798	CONSTRUCTION LAYOUT	1.0 LSUM	\$18,000.00	\$18,000.00	\$17,249.00	\$17,249.00	\$25,000.00	\$25,000.00	\$22,330.00	\$22,330.00	\$25,000.00	\$25,000.00	\$10,000.00	\$10,000.00	\$24,500.00	\$24,500.00
129	Z0019600	DUST CONTROL WATERING	24.0 UNIT	\$125.00	\$3,000.00	\$1.00	\$24.00	\$1.00	\$24.00	\$1.00	\$24.00	\$105.00	\$2,520.00	\$255.00	\$6,120.00	\$1.00	\$24.00
130		TEMPORARY INFORMATION SIGNING	100.0 SQ FT	\$20.00	\$2,000.00	\$16.00	\$1,600.00	\$16.00	\$1,600.00	\$16.25	\$1,625.00	\$16.00	\$1,600.00	\$16.00	\$1,600.00	\$15.00	\$1,500.00
131	Z0033044	RE-OPTIMIZE TRAFFIC SIGNAL SYSTEM LEVEL 1	1.0 EACH	\$2,500.00	\$2,500.00	\$825.00	\$825.00	\$825.00	\$825.00	\$837.38	\$837.38	\$825.00	\$825.00	\$825.00	\$825.00	\$910.00	\$910.00
		Bid Total			\$2,061,786.95		\$2,125,232.18		\$1,916,200.23		\$1,780,024.24		\$2,293,612.33		\$1,885,743.21		\$2,099,082.30



Project: IL Route 120 Widening and Resurfacing

Section: 12-00999-31-WR

Located on IL Rte 120 from Knight Avenue to IL Rte 131 in Waukegan. HMA widening of IL Rte 120 from 4 to 5 lanes, ADA curb ramp

Description: improvements, class D patching, resurfacing of adjacent roadway, storm sewer installation, thermoplastic

pavement markings, traffic signal work, and other related items.

Item	Pay Code	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	ray code	Description	Quantity	Oilit	Unit Price	Extnd. Price	Price	Price	Price
1	70100110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	8	UNIT	\$40.00	\$320.00	\$85.00	\$140.00	\$127.17
2	20101100	TREE TRUNK PROTECTION	10	EACH	\$180.00	\$1,800.00	\$80.00	\$220.00	\$126.67
3	20200100	EARTH EXCAVATION	3,680	CU YD	\$32.00	\$117,760.00	\$20.00	\$40.00	\$29.38
4	20400800	FURNISHED EXCAVATION	155	CU YD	\$25.00	\$3,875.00	\$0.01	\$50.00	\$10.50
5	20800150	TRENCH BACKFILL	323	CU YD	\$40.00	\$12,920.00	\$36.00	\$68.66	\$52.89
6	21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	216	SQ YD	\$3.00	\$648.00	\$1.00	\$5.00	\$3.23
7	21101615	TOPSOIL FURNISH AND PLACE, 4"	4,757	SQ YD	\$4.00	\$19,028.00	\$3.50	\$4.75	\$4.05
8	21301052	EXPLORATION TRENCH 52" DEPTH	10	FOOT	\$50.00	\$500.00	\$1.00	\$100.00	\$77.83
9	25000210	SEEDING, CLASS 2A	1	ACRE	\$4,000.00	\$3,200.00	\$2,000.00	\$5,325.00	\$3,774.50
10	25000312	SEEDING, CLASS 4A	0	ACRE	\$4,000.00	\$800.00	\$4,840.00	\$7,250.00	\$5,455.50
11	25000400	NITROGEN FERTILIZER NUTRIENT	71	POUND	\$3.00	\$213.00	\$1.00	\$1.12	\$1.05
12	25000600	POTASSIUM FERTILIZER NUTRIENT	71	POUND	\$3.00	\$213.00	\$1.00	\$1.12	\$1.05
13	25100630	EROSION CONTROL BLANKET	4,787	SQ YD	\$1.50	\$7,180.50	\$1.00	\$1.35	\$1.21



Project: IL Route 120 Widening and Resurfacing

Section: 12-00999-31-WR

Located on IL Rte 120 from Knight Avenue to IL Rte 131 in Waukegan. HMA widening of IL Rte 120 from 4 to 5 lanes, ADA curb ramp

Description: improvements, class D patching, resurfacing of adjacent roadway, storm sewer installation, thermoplastic

pavement markings, traffic signal work, and other related items.

Item	Pay Code	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	ray Code	Description	Quantity	Ollit	Unit Price	Extnd. Price	Price	Price	Price
14	28000250	TEMPORARY EROSION CONTROL SEEDING	891	POUND	\$1.50	\$1,336.50	\$0.10	\$1.10	\$0.57
15	28000400	PERIMETER EROSION BARRIER	3,814	FOOT	\$1.60	\$6,102.40	\$1.00	\$3.00	\$2.43
16	28000510	INLET FILTERS	42	EACH	\$135.00	\$5,670.00	\$15.00	\$175.00	\$114.17
17		AGGREGATE SUBGRADE IMPROVEMENT	72	CU YD	\$60.00	\$4,320.00	\$10.00	\$75.00	\$47.61
18	30300112	AGGREGATE SUBGRADE IMPROVEMENT 12"	2,736	SQ YD	\$20.00	\$54,720.00	\$14.50	\$21.46	\$18.41
19	35101600	AGGREGATE BASE COURSE, TYPE B 4"	2,284	SQ YD	\$10.00	\$22,840.00	\$5.15	\$9.65	\$7.09
20	35101800	AGGREGATE BASE COURSE, TYPE B 6"	60	SQ YD	\$12.00	\$720.00	\$7.00	\$21.00	\$12.04
21	35501316	HOT-MIX ASPHALT BASE COURSE, 8"	1,281	SQ YD	\$60.00	\$76,860.00	\$42.00	\$51.50	\$48.11
22	35600712	HOT-MIX ASPHALT BASE COURSE WIDENING, 9"	851	SQ YD	\$65.00	\$55,315.00	\$47.00	\$59.00	\$52.44
23	35600715	HOT-MIX ASPHALT BASE COURSE WIDENING, 9 3/4"	12	SQ YD	\$70.00	\$840.00	\$51.00	\$163.00	\$114.63
24	40600290	BITUMINOUS MATERIALS (TACK COAT)	7,344	POUND	\$0.25	\$1,836.00	\$0.01	\$1.25	\$0.79
25	40600982	HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT	151	SQ YD	\$15.00	\$2,265.00	\$5.00	\$25.38	\$12.56



Project: IL Route 120 Widening and Resurfacing

Section: 12-00999-31-WR

Located on IL Rte 120 from Knight Avenue to IL Rte 131 in Waukegan. HMA widening of IL Rte 120 from 4 to 5 lanes, ADA curb ramp

Description: improvements, class D patching, resurfacing of adjacent roadway, storm sewer installation, thermoplastic

pavement markings, traffic signal work, and other related items.

Item	Pay Codo	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Ollit	Unit Price	Extnd. Price	Price	Price	Price
26	40601005	HOT-MIX ASPHALT REPLACEMENT OVER PATCHES	75	TON	\$110.00	\$8,250.00	\$100.00	\$200.00	\$157.42
27	40603085	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N70	1,678	TON	\$95.00	\$159,410.00	\$66.00	\$77.25	\$70.09
28	40603200	POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50	762	TON	\$95.00	\$72,390.00	\$88.00	\$103.53	\$93.92
29	40604060	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N50	144	TON	\$150.00	\$21,600.00	\$120.00	\$165.00	\$143.63
30	40604062	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N70	2	TON	\$150.00	\$300.00	\$135.00	\$250.00	\$203.67
31	40604172	POLYMERIZED HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "E", N70	1,067	TON	\$120.00	\$128,040.00	\$78.00	\$93.89	\$84.20
32	42001300	PROTECTIVE COAT	3,643	SQ YD	\$1.00	\$3,643.00	\$0.01	\$1.93	\$0.98
33	42300400	PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 8 INCH	409	SQ YD	\$75.00	\$30,675.00	\$65.00	\$93.00	\$75.53
34	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	14,988	SQ FT	\$7.00	\$104,916.00	\$5.75	\$7.50	\$6.43
35	42400300	PORTLAND CEMENT CONCRETE SIDEWALK 6 INCH	532	SQ FT	\$8.00	\$4,256.00	\$6.35	\$8.00	\$7.08



Project: IL Route 120 Widening and Resurfacing

Section: 12-00999-31-WR

Located on IL Rte 120 from Knight Avenue to IL Rte 131 in Waukegan. HMA widening of IL Rte 120 from 4 to 5 lanes, ADA curb ramp

Description: improvements, class D patching, resurfacing of adjacent roadway, storm sewer installation, thermoplastic

pavement markings, traffic signal work, and other related items.

Item	Pay Code	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	ray code	Description	Quantity	Ollit	Unit Price	Extnd. Price	Price	Price	Price
36	42400410	PORTLAND CEMENT CONCRETE SIDEWALK 8 INCH	4,633	SQ FT	\$10.00	\$46,330.00	\$7.30	\$9.00	\$8.12
37	42400435	PORTLAND CEMENT CONCRETE SIDEWALK 10 INCH	1,269	SQ FT	\$12.00	\$15,228.00	\$8.50	\$15.00	\$11.21
38	42400800	DETECTABLE WARNINGS	172	SQ FT	\$30.00	\$5,160.00	\$25.00	\$55.00	\$36.08
39	44000100	PAVEMENT REMOVAL	213	SQ YD	\$20.00	\$4,260.00	\$14.35	\$40.00	\$19.94
40	44000161	HOT-MIX ASPHALT SURFACE REMOVAL, 3"	10,029	SQ YD	\$4.50	\$45,130.50	\$2.79	\$3.20	\$3.07
41	44000200	DRIVEWAY PAVEMENT REMOVAL	2,168	SQ YD	\$15.00	\$32,520.00	\$7.50	\$20.00	\$13.34
42	44000500	COMBINATION CURB AND GUTTER REMOVAL	3,562	FOOT	\$4.00	\$14,248.00	\$4.00	\$20.00	\$7.64
43	44000600	SIDEWALK REMOVAL	1,595	SQ FT	\$2.00	\$3,190.00	\$0.85	\$2.00	\$1.44
44	44002216	HOT-MIX ASPHALT REMOVAL OVER PATCHES, 4"	332	SQ YD	\$7.00	\$2,324.00	\$3.10	\$10.66	\$6.27
45	44003100	MEDIAN REMOVAL	335	SQ FT	\$10.00	\$3,350.00	\$1.30	\$15.00	\$5.38
46	44201771	CLASS D PATCHES, TYPE IV, 10 INCH	278	SQ YD	\$80.00	\$22,240.00	\$80.00	\$134.00	\$108.67
47	44300200	STRIP REFLECTIVE CRACK CONTROL TREATMENT	2,554	FOOT	\$1.00	\$2,554.00	\$2.50	\$2.84	\$2.68
48	50900805	PEDESTRIAN RAILING	153	FOOT	\$20.00	\$3,060.00	\$330.00	\$363.00	\$336.33



Project: IL Route 120 Widening and Resurfacing

Section: 12-00999-31-WR

Located on IL Rte 120 from Knight Avenue to IL Rte 131 in Waukegan. HMA widening of IL Rte 120 from 4 to 5 lanes, ADA curb ramp

Description: improvements, class D patching, resurfacing of adjacent roadway, storm sewer installation, thermoplastic

pavement markings, traffic signal work, and other related items.

Item	Pay Code	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	i ay code	Description	Quantity	Oiiit	Unit Price	Extnd. Price	Price	Price	Price
49	52200800	SEGMENTAL CONCRETE BLOCK WALL	331	SQ FT	\$100.00	\$33,100.00	\$40.00	\$50.75	\$45.77
50	550A0050	STORM SEWERS, CLASS A, TYPE 1 12"	152	FOOT	\$40.00	\$6,080.00	\$60.00	\$110.00	\$76.06
51	550A0180	STORM SEWERS, CLASS A, TYPE 1 42"	179	FOOT	\$125.00	\$22,375.00	\$125.00	\$240.00	\$156.86
52	2 550A0190	STORM SEWERS, CLASS A, TYPE 1 48"	63	FOOT	\$160.00	\$10,080.00	\$150.00	\$275.00	\$183.13
53	550A0340	STORM SEWERS, CLASS A, TYPE 2 12"	841	FOOT	\$47.00	\$39,527.00	\$58.12	\$115.00	\$77.18
54	550A0480	STORM SEWERS, CLASS A, TYPE 2 48"	136	FOOT	\$48.00	\$6,528.00	\$150.00	\$300.00	\$197.36
55	550A2320	STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 1 12"	4	FOOT	\$61.00	\$244.00	\$90.00	\$214.08	\$148.03
56	55100500	STORM SEWER REMOVAL 12"	476	FOOT	\$12.00	\$5,712.00	\$1.00	\$20.00	\$10.64
57	55101600	STORM SEWER REMOVAL 36"	370	FOOT	\$18.00	\$6,660.00	\$1.00	\$40.00	\$15.68
58	56400500	FIRE HYDRANTS TO BE REMOVED	2	EACH	\$725.00	\$1,450.00	\$750.00	\$4,500.00	\$1,393.33
59	56400820	FIRE HYDRANT WITH AUXILIARY VALVE AND VALVE BOX	2	EACH	\$4,500.00	\$9,000.00	\$5,000.00	\$10,000.00	\$7,211.98
60	60108204	PIPE UNDERDRAINS, TYPE 2, 4"	3,433	FOOT	\$28.00	\$96,124.00	\$2.21	\$37.50	\$16.94
61	60201340	CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 24 FRAME AND GRATE	20	EACH	\$2,000.00	\$40,000.00	\$2,250.00	\$7,000.00	\$3,609.57



Project: IL Route 120 Widening and Resurfacing

Section: 12-00999-31-WR

Located on IL Rte 120 from Knight Avenue to IL Rte 131 in Waukegan. HMA widening of IL Rte 120 from 4 to 5 lanes, ADA curb ramp

Description: improvements, class D patching, resurfacing of adjacent roadway, storm sewer installation, thermoplastic

pavement markings, traffic signal work, and other related items.

Item	Pay Code	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Offic	Unit Price	Extnd. Price	Price	Price	Price
62	60205040	CATCH BASINS, TYPE A, 5'-DIAMETER, TYPE 24 FRAME AND GRATE	2	EACH	\$4,450.00	\$8,900.00	\$3,700.00	\$8,000.00	\$4,757.07
63	60208240	CATCH BASINS, TYPE C, TYPE 24 FRAME AND GRATE	9	EACH	\$1,630.00	\$14,670.00	\$1,114.54	\$4,000.00	\$2,100.68
64	60218400	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	3	EACH	\$2,400.00	\$7,200.00	\$2,150.00	\$7,000.00	\$3,729.57
65	60221100	MANHOLES, TYPE A, 5'-DIAMETER, TYPE 1 FRAME, CLOSED LID	2	EACH	\$4,875.00	\$9,750.00	\$3,917.45	\$11,400.00	\$6,322.48
66	60223800	MANHOLES, TYPE A, 6'-DIAMETER, TYPE 1 FRAME, CLOSED LID	5	EACH	\$7,500.00	\$37,500.00	\$4,572.45	\$9,000.00	\$6,240.82
67	60237470	INLETS, TYPE A, TYPE 24 FRAME AND GRATE	11	EACH	\$750.00	\$8,250.00	\$852.55	\$4,000.00	\$1,942.52
68	60255500	MANHOLES TO BE ADJUSTED	11	EACH	\$640.00	\$7,040.00	\$150.00	\$750.00	\$465.83
69	60500040	REMOVING MANHOLES	9	EACH	\$450.00	\$4,050.00	\$275.00	\$1,250.00	\$575.00
70	60500060	REMOVING INLETS	17	EACH	\$90.00	\$1,530.00	\$150.00	\$250.00	\$200.00
71	60600605	CONCRETE CURB, TYPE B	572	FOOT	\$25.00	\$14,300.00	\$27.00	\$39.00	\$33.01
72	60603800	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12	544	FOOT	\$22.00	\$11,968.00	\$26.00	\$37.00	\$32.92



Project: IL Route 120 Widening and Resurfacing

Section: 12-00999-31-WR

Located on IL Rte 120 from Knight Avenue to IL Rte 131 in Waukegan. HMA widening of IL Rte 120 from 4 to 5 lanes, ADA curb ramp

Description: improvements, class D patching, resurfacing of adjacent roadway, storm sewer installation, thermoplastic

pavement markings, traffic signal work, and other related items.

Item	Pay Code	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	ray code	Description	Quantity	Ollit	Unit Price	Extnd. Price	Price	Price	Price
73	60605000	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24	2,037	FOOT	\$25.00	\$50,925.00	\$28.00	\$40.00	\$33.86
74	60605300	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (MODIFIED)	1,156	FOOT	\$30.00	\$34,680.00	\$28.00	\$46.00	\$35.53
75	60618740	CONCRETE MEDIAN, TYPE M-2.12	99	SQ FT	\$18.00	\$1,782.00	\$14.21	\$23.00	\$16.17
76		REMOVE AND REERECT TRAFFIC BARRIER TERMINALS, TYPE 1	1	EACH	\$1,100.00	\$1,100.00	\$1,000.00	\$2,750.00	\$2,247.92
77	67100100	MOBILIZATION	1	LSUM	\$90,000.00	\$90,000.00	\$51,465.00	\$137,683.00	\$113,191.33
78	70103815	TRAFFIC CONTROL SURVEILLANCE	101	CAL DA	\$1.00	\$101.00	\$1.00	\$225.00	\$38.34
79	70107025	CHANGEABLE MESSAGE SIGN	300	CAL DA	\$20.00	\$6,000.00	\$1.00	\$25.38	\$20.23
80	70300100	SHORT TERM PAVEMENT MARKING	3,588	FOOT	\$0.50	\$1,794.00	\$0.01	\$0.36	\$0.27
81		SHORT TERM PAVEMENT MARKING REMOVAL	1,196	SQ FT	\$0.50	\$598.00	\$1.00	\$3.00	\$1.43
82	70300510	PAVEMENT MARKING TAPE, TYPE III - LETTERS AND SYMBOLS	1,444	SQ FT	\$4.00	\$5,776.00	\$1.00	\$3.30	\$2.84
83	70300520	PAVEMENT MARKING TAPE, TYPE III 4"	25,467	FOOT	\$0.40	\$10,186.80	\$0.01	\$0.92	\$0.59
84	70300540	PAVEMENT MARKING TAPE, TYPE III 6"	1,315	FOOT	\$1.30	\$1,709.50	\$0.01	\$1.35	\$1.06
85	70300560	PAVEMENT MARKING TAPE, TYPE III 12"	611	FOOT	\$2.50	\$1,527.50	\$0.01	\$2.75	\$2.27



Project: IL Route 120 Widening and Resurfacing

Section: 12-00999-31-WR

Located on IL Rte 120 from Knight Avenue to IL Rte 131 in Waukegan. HMA widening of IL Rte 120 from 4 to 5 lanes, ADA curb ramp

Description: improvements, class D patching, resurfacing of adjacent roadway, storm sewer installation, thermoplastic

pavement markings, traffic signal work, and other related items.

Item	Pay Code	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	ray Code	Description	Quantity	Oilit	Unit Price	Extnd. Price	Price	Price	Price
86	70300570	PAVEMENT MARKING TAPE, TYPE III 24"	129	FOOT	\$6.00	\$774.00	\$0.01	\$6.00	\$4.62
87	72000100	SIGN PANEL - TYPE 1	135	SQ FT	\$35.00	\$4,725.00	\$16.95	\$25.00	\$19.01
88	72000200	SIGN PANEL - TYPE 2	21	SQ FT	\$45.00	\$945.00	\$35.00	\$40.60	\$38.93
89	72400100	REMOVE SIGN PANEL ASSEMBLY - TYPE A	12	EACH	\$75.00	\$900.00	\$30.00	\$150.00	\$56.77
90	72400200	REMOVE SIGN PANEL ASSEMBLY - TYPE B	5	EACH	\$150.00	\$750.00	\$60.00	\$250.00	\$92.65
91	72800100	TELESCOPING STEEL SIGN SUPPORT	256	FOOT	\$17.00	\$4,352.00	\$9.00	\$18.00	\$10.94
92	73000100	WOOD SIGN SUPPORT	22	FOOT	\$25.00	\$550.00	\$20.00	\$30.00	\$25.03
93	/3100100	BASE FOR TELESCOPING STEEL SIGN SUPPORT	16	EACH	\$150.00	\$2,400.00	\$150.00	\$250.00	\$183.77
94	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	474	SQ FT	\$3.00	\$1,422.00	\$4.06	\$5.89	\$5.06
95	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	5,707	FOOT	\$0.75	\$4,280.25	\$0.60	\$1.15	\$0.82
96	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	812	FOOT	\$1.25	\$1,015.00	\$1.02	\$2.25	\$1.38
97	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	1,140	FOOT	\$2.00	\$2,280.00	\$2.03	\$3.00	\$2.44



Project: IL Route 120 Widening and Resurfacing

Section: 12-00999-31-WR

Located on IL Rte 120 from Knight Avenue to IL Rte 131 in Waukegan. HMA widening of IL Rte 120 from 4 to 5 lanes, ADA curb ramp

Description: improvements, class D patching, resurfacing of adjacent roadway, storm sewer installation, thermoplastic

pavement markings, traffic signal work, and other related items.

Item	Pay Code	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	ray code	Description	Quantity	Ollit	Unit Price	Extnd. Price	Price	Price	Price
98	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	276	FOOT	\$3.00	\$828.00	\$4.06	\$7.50	\$5.39
99	78100100	RAISED REFLECTIVE PAVEMENT MARKER	205	EACH	\$50.00	\$10,250.00	\$0.00	\$33.00	\$23.06
100	78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	162 EACH		\$25.00	\$4,050.00	\$8.50	\$11.00	\$10.02
101	81028200	UNDERGROUND CONDUIT, GALVANIZED STEEL, 2" DIA.	27	FOOT	\$22.00	\$594.00	\$20.10	\$25.00	\$20.97
102	85000300	MAINTENANCE OF EXISTING TRAFFIC SIGNAL INSTALLATION	1	LSUM	\$5,000.00	\$5,000.00	\$2,640.00	\$3,760.00	\$2,877.43
103	87301215	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 2C	445	FOOT	\$2.00	\$890.00	\$1.20	\$1.35	\$1.23
104	87301225	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 3C	457	FOOT	\$2.00	\$914.00	\$1.30	\$1.45	\$1.33
105	87502440	TRAFFIC SIGNAL POST, GALVANIZED STEEL 10 FT	3	EACH	\$1,600.00	\$4,800.00	\$1,002.00	\$1,105.00	\$1,021.67
106	87800100	CONCRETE FOUNDATION, TYPE A	12	FOOT	\$350.00	\$4,200.00	\$251.30	\$280.00	\$256.71
107	87900200	DRILL EXISTING HANDHOLE	3	EACH	\$450.00	\$1,350.00	\$281.00	\$310.00	\$286.54



Project: IL Route 120 Widening and Resurfacing

Section: 12-00999-31-WR

Located on IL Rte 120 from Knight Avenue to IL Rte 131 in Waukegan. HMA widening of IL Rte 120 from 4 to 5 lanes, ADA curb ramp

Description: improvements, class D patching, resurfacing of adjacent roadway, storm sewer installation, thermoplastic

pavement markings, traffic signal work, and other related items.

Item	Day Cada	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Offic	Unit Price	Extnd. Price	Price	Price	Price
108	88102717	PEDESTRIAN SIGNAL HEAD, LED, 1-FACE, BRACKET MOUNTED WITH COUNTDOWN TIMER	4	EACH	\$900.00	\$3,600.00	\$507.00	\$560.00	\$517.10
109	88800100	PEDESTRIAN PUSH-BUTTON	4	EACH	\$300.00	\$1,200.00	\$382.00	\$425.00	\$390.12
110	89502200	MODIFY EXISTING CONTROLLER	1	EACH	\$2,500.00	\$2,500.00	\$1,225.00	\$1,350.00	\$1,248.90
111	89502210	MODIFY EXISTING CONTROLLER CABINET	1	EACH	\$2,500.00	\$2,500.00	\$1,628.00	\$1,800.00	\$1,660.74
112	A2004424	TREE, GINKGO BILOBA (GINKGO), 3" CALIPER, BALLED AND BURLAPPED	1	EACH	\$630.00	\$630.00	\$550.00	\$3,200.00	\$1,183.04
113	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	9,423	UNIT	\$1.00	\$9,423.00	\$1.00	\$1.00	\$1.00
114	LC600023	MANHOLES, TYPE A, 6'-DIAMETER, WITH 2 TYPE 1 FRAME, CLOSED LID, RESTRICTOR PLATE, SPECIAL	1	EACH	\$16,000.00	\$16,000.00	\$7,024.50	\$12,000.00	\$8,866.50
115	LC800872	REMOVE EXISTING RED LIGHT CAMERA AND EQUIPMENT	1	LSUM	\$5,050.00	\$5,050.00	\$3,520.00	\$3,875.00	\$3,587.97
116	X0322463	CONNECTION TO EXISTING SEWER	4	EACH	\$3,000.00	\$12,000.00	\$500.00	\$1,950.00	\$1,118.33
117	X0322708	REMOVE EXISTING STREET LIGHTING EQUIPMENT	1	EACH	\$2,000.00	\$2,000.00	\$1,760.00	\$1,940.00	\$1,794.40



Project: IL Route 120 Widening and Resurfacing

Section: 12-00999-31-WR

Located on IL Rte 120 from Knight Avenue to IL Rte 131 in Waukegan. HMA widening of IL Rte 120 from 4 to 5 lanes, ADA curb ramp

Description: improvements, class D patching, resurfacing of adjacent roadway, storm sewer installation, thermoplastic

pavement markings, traffic signal work, and other related items.

Item	Pay Code	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	i ay code	Description	Quantity	Oill	Unit Price	Extnd. Price	Price	Price	Price
118	X0323697	RUSTIC RAIL FENCE REMOVAL	77	FOOT	\$25.00	\$1,925.00	\$1.00	\$13.80	\$9.13
119	X0327727	PLANTER REMOVAL	1	LSUM	\$3,000.00	\$3,000.00	\$500.00	\$2,500.00	\$1,000.00
120	X2600012	REMOVE AND RELOCATE SIGN PANEL AND POLE ASSEMBLY	4	EACH	\$250.00	\$1,000.00	\$150.00	\$300.00	\$192.04
121	X4022000	TEMPORARY ACCESS (COMMERCIAL ENTRANCE)	28 EACH		\$1,100.00	\$30,800.00	\$1.00	\$700.00	\$342.34
122	X4023000	TEMPORARY ACCESS (ROAD)	3	EACH	\$2,200.00	\$6,600.00	\$1.00	\$1,200.00	\$535.68
123	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	7	CAL MO	\$2,500.00	\$17,500.00	\$500.00	\$3,000.00	\$2,266.67
124	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1	LSUM	\$90,000.00	\$90,000.00	\$45,000.00	\$234,000.00	\$86,857.08
125	X7030005	TEMPORARY PAVEMENT MARKING REMOVAL	6,660	SQ FT	\$0.50	\$3,330.00	\$0.01	\$0.92	\$0.21
126	X8440110	RELOCATE EXISTING LIGHT POLE WITH LUMINAIRE	5	EACH	\$5,000.00	\$25,000.00	\$2,048.00	\$2,255.00	\$2,087.62
127	Z0013797	STABILIZED CONSTRUCTION ENTRANCE	53	SQ YD	\$45.00	\$2,385.00	\$1.00	\$60.00	\$21.17
128	Z0013798	CONSTRUCTION LAYOUT	1	LSUM	\$18,000.00	\$18,000.00	\$10,000.00	\$25,000.00	\$20,679.83
129	Z0019600	DUST CONTROL WATERING	24	UNIT	\$125.00	\$3,000.00	\$1.00	\$255.00	\$60.67



Project: IL Route 120 Widening and Resurfacing

Section: 12-00999-31-WR

Located on IL Rte 120 from Knight Avenue to IL Rte 131 in Waukegan. HMA widening of IL Rte 120 from 4 to 5 lanes, ADA curb ramp

Description: improvements, class D patching, resurfacing of adjacent roadway, storm sewer installation, thermoplastic

pavement markings, traffic signal work, and other related items.

Item	Pay Code	Description	Quantity	Unit	Eng Estimate		Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity		Unit Price	Extnd. Price	Price	Price	Price
130	Z0030850	TEMPORARY INFORMATION SIGNING	100	SQ FT	\$20.00	\$2,000.00	\$15.00	\$16.25	\$15.88
131	Z0033044	RE-OPTIMIZE TRAFFIC SIGNAL SYSTEM LEVEL 1	1	EACH	\$2,500.00	\$2,500.00	\$825.00	\$910.00	\$841.23
	Bid Total					\$2,061,786.95			